Math 122
Exam 1

Fall 17 SHOW ALL WORK

Name

1) Complete the table for 2x + 3y = 5 and plot the points.
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2) Find the x- and y- intercepts of 2x —y = 4 and graph the equation

3) Graph the linear equationy = 3.
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4) Find the slope of the line passing through (-4, 5) and (-5, 8)
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5) Any line perpendicular to y = 3x + 18 must have slope
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6) What is the slope of the line 4x+2y 8
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7) a) Graph the line through (-1, 4) with slope — 2.
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8) Find the equation of a line passing through (1, 4) with undefined slope.

Undefined slope means time vy veehed
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9) Write an equation of the through (4,2) parallel to 3x -y =2
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10) Solve each inequality. Give the solution in both interval and graph forms.
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11) LetA={1,2,3,4,5, 6}andB={3,5, 7}
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12) Solve the inequality. Give the solution set in both interval and graph forms

a) x+5<11 and x-3>-1
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b) 3x+2<-7 or -2x+1<9
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